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যেক োক ো ১০ টিপ্রকেরউত্তরদোও   (10x1) 

Answer any 10 question 

১) যখন আমরা জ্ঞাত সতয থেকে অজ্ঞাত সকতয উপনীত হই – তখন তাকে কে বকে? 

 ে) অনুমান  খ) প্রতযক্ষ গ) উপমান  ঘ) শব্দ 

1) when we move form known truth to unknown truth, -- what is itcalled ? 

a) Perception b) Inference  c) Analogy d) Testimony  

২) অনুমাকন েয়টি পদ আকে? 

ে) ৩ টি  খ) ২ টি গ) ৪ টি ঘ) ১ টি 

2) In a inference, how many terms are there ? 

a) 3  b) 2  c) 4 d) 1  

৩) সাকযযর আশ্রয় হে? 

ে) পক্ষ  খ)থহতু  গ)সাযয ঘ) এরকেেুইনয় 

3) The shelter of sadhya is – 

 a) Paksa b) Hetu c) Sadhya d) None of these  

৪) নযায় মকত সকিের্ ষ েয় প্রোর ? 

ে) ৪ প্রোর খ) ৬ প্রোর গ) ৮ প্রোর ঘ) ১০ প্রোর 

4) How many types of Sannikarsa are there according to Nyaya Philosophy ? 

a) 4  b) 6  c) 8 d) 10 

৫) থসখাকন অনুমকত সম্ভব নয় থযখাকন – 



ে) কসর্াযকয়র্াআকেএবংকসদ্ধিআকে   খ) কসর্াযকয়র্াআকেএবংকসদ্ধিকনইগ) 

কসর্াযকয়র্াকনইএবংকসদ্ধিকনইঘ) কসর্াযকয়র্াকনইএবংকসদ্ধিআকে 

5) Inference is not possible where – 

a) Both sisadhayisa and siddhi exist  

b) Sisadhayisa exists but siddhi does not exist  

c) neither sisadhayisa nor siddhi exists  

d) sisadhayisa does not exist but siddhi exists  

৬) ‘রুপত্ব’ প্রতযকক্ষ থোন সকিের্ ষ হয়? 

ে) সংকযাগখ) সমবায় গ) সংযুক্তসমবায় ঘ) সংযুক্তসমকবতসমবায় 

6) Which sannikarsha is used in the perception of colourness ? 

a) Samyoga b) Samavaya c) Samyuktasamavaya d) Samyuktasamavetasamayaya 

৭) কবরুি থহত্বাভাকসর উদাহরন থোনটি ? 

ে) উৎপকিআকে, তাইশব্দকনতয 

খ) শব্দত্বআকে, তাইশব্দকনতয 

গ) শব্দচকু্ষদ্বারাউপেকি, তাইশব্দকনতয 

ঘ) শব্দশ্রুকতকগাচর, তাইশব্দকনতয 

7) Which one is the example of virtual hetvabhasa? 

a) sound is eternal, since it has origin  

b) sound is eternal, since it has soundness 

c) sound is eternal, since it is perceived by eyes. 

d)sound is eternal, since it is known by ears. 

৮) প্রতযক্ষ েয় প্রোর ? 

ে) দুইপ্রোর খ) চারপ্রোর গ) পাাঁচপ্রোর ঘ) েয়প্রোর 

8) How many types of Pereception are there? 

a) 2  b) 4  c) 5  d) 6 

৯) চকু্ষরদ্বারাঘকিররুপপ্রতযকক্ষ – 

ে) সংকযাগসকিের্ ষ  খ) সমবায়সকিের্ ষ  গ) সংযুক্তসমবায়সকিের্ ষ  ঘ) সংযুক্তসমকবতসমবায়সকিের্ ষ 

9) ‘ Thecolour of the pot is perceived by the eye is – 

a) Samyogasannikarsha  b) samavayasannikarsha   c) Samyuktasamavaya  d) 

samyuktasamavetasamavayasannikarsa 



১০) ইদ্ধিকয়র সকে কবর্কয়র যখন থেৌকেে সকিের্ ষ হয়, তখন তাকে কে বকে – 

ে) থেৌকেেপ্রতযক্ষ   খ) অকেৌকেেপ্রতযক্ষ গ) জ্ঞানেক্ষণপ্রতযক্ষ  ঘ) সামানযেক্ষণপ্রতযক্ষ 

10) the ordinary approximation of the sulyeet with the senses is called – 

a) Loukikaperception  b) aloukika perception  c) samnnyalaksana perception d) jnana laksana 

perception  

১১) থহত্বাভাস েয় প্রোর ? 

ে) ৫  খ) ৪  গ) ৬  ঘ) ২ 

11) How many types of hetvabhasa are there ? 

 a) 5  b) 4 c) 6 d) 2 

১২) পক্ষ েয় প্রোর ? 

ে) ২ প্রোর খ) ৩ প্রোর গ) ৪ প্রোর ঘ) ৫প্রোর 

12) How many types of paksa are there ? 

a) two types  b) three types c) four types d) five types  

১৩) ‘থযটির অনুপকিকতকত োয ষঘকিনা’ বেকত থোন যরকনর োরন কনকদষশ েরা হয়? 

ে) পয ষাপ্তশতষ   খ) আবকশযেশতষ  গ) পয ষাপ্তএবংআবকশযেশতষ ঘ) থোনটিইনয় 

13) ‘In absence of which effect does not happen ‘ – which type of cause is mentioned by this 

statement ? 

a) Sufficient condition   b) Necessary condition c) Sufficient and necessary condition  d) none 

of these  

১৪) থয  মামোয় হতযাোরীর কবচারহয়, তাকে কে যরকনর মামো বকে? 

ে) থদওয়াকন   খ) থ ৌজদাকর   গ) থদওয়াকনএবংক ৌজদাকরঘ) থোনটিইনয় 

14) What kind of case is it in which a murderer is judged ? 

a) civil   b) criminal  c) civil and criminal   d) none of these  

১৫) েুতেষ োকে বকে? 

ে) আপাতকনভুষেকমেযাযুদ্ধক্ত  খ) আপাতকমেযাসতযযুদ্ধক্ত গ) ে এবং  খ  দুটিই  ঘ) থোনটিইনয় 

15) What is ‘Sophism’ ? 

a) Apparently true but false argument  b) Apparently false but true argument  c) Both (a) and 

    (b)   d) none of these  

 

 



 


